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2.4 DODC(Discrete-time Output Deadbeat Control)

T*[s§|0000000000000000000O0ODODO¢t[s|jbODO0OOOOOoOoDOO
0000007 0000000000000 00000O0DO0O0O000D0 (218)000
gbooboooobboogobobad

1. 0000 :€0)=—a, £0)=0
2. 0000 : T =0, &T*) =0

00000 (218) 0 7/200000000

+ o] (2.19)

et =€ (1) i=¢(G1) ol =o () (2.20)

000000 (219 000000000000
x[i + 1] = Az[i] + Bvli] (2.21)

D000[i]=Fzli] 00000(A+BF)0000000000000000000O0
0000000000 120000 2)2]=0,,00000000000000000 F

0
F=| — 1 —3 2.22
oodooooooooooooooooooooood
@
—a 2 0
ﬂm—[ O],wuw— - ,wmy—lol (223
T*

0 (223)0000¢2]=00006(T*)=¢/200000000000000000

v[0] = v[l] = — v[2] =0 (2.24)

EREREEN



241 UUOOLOOOOOOOOOOO

000o0oo mmmmel(o):—%mm QI(T*):%DDDDDDDD(ZN)D

*

T
DDDDO§t<TDDDDDDDDDDDDDDDDDDDD

) ) dav
01(t) = 6:(0) + V0t = 773

a 200

0.1(t) = 6,(0) +/Ot 01(t) dt = -5+ (T*)Qt

*

T
00000D00D—-<t<7*00000000000000000000
: . (T T* 4a
01(t) = 0, | — (t——=)= T —t
(0=0 (7 )+t (¢- 7 ) = -
b o) 200 .
+/ Hl(t)dtZE— (T —t)?

T*
T*/2

gbobboogobbbuoooobbodao

0(22) 0000000000000

égz—l_lu
godbbboooooooooobobbbbuooooo

05(T*) = 6,(0) — I /T* u(t) dt

ma

. 2 T T
- 92(0)—7/0 ”“)d”@/o sin 6, (t) dt

T* /2 T*
/ v(t)dt = / v[0] dt +/ v[1]dt =0
0 0 T*/2

T* T*/2 T /2
/ sinf(t)dt = / sin 0 (t) dt + / sin 0y (T —t)dt
0 0 0

T /2 T* /2
= / sin 0 (t) dt — / sinf(t)dt =0
0 0

7

gbooooogn

(2.24)

(2.25)

(2.26)

(2.27)

(2.28)

(2.29)

(2.30)

(2.31)

(2.32)

(2.33)

(2.34)



0000000000 (232)0000000000000
62(T") = 65(0) (2.35)

000000000 1000000000000000000000000000000
0 (23500000000 (2.33)0 (234)000000000000000000000
(217) 00 v(t) =£@#)0 6,(H)0 2000000000000000000000000
v($)000000000000000000000000000000(#)0000000
0000000000000000000000000000000000000000
000000000000000000000
000000000000000000000000000000000000000
0000000000000000001000000000000000

0,(T*) = 05(0)+ / " 0y (t) dt

= %my+ér<@my—ri[uw)m

= 65(0) + 6,(0)T* — /0 " (mTa2 /0 tv(t) dt—@ /0 tsinﬁl(t) dt) dt (2.36)

O00000000»(¢)010000000000000

b 4o T
B 0<t<—
[ o S (237
v(t)dt = ; 2.3
0 /T/2 da &Ai/t do o Ty e
o (T%)? 72 (T%)? 2 -
oooooQ
da 0<t< L
t (T*)Q — 2
/v(t)dt: (2.38)
; do da (L.
T (T2 5 =

O0000Ow(t)0 20000

T T*/2 pt T* t
/ / tHydtdt = / /U(t)dtdt—i-/ /v(t)dtdt
0 0 T+/2 J0

_ /T*/thdH/T*(46k 4O‘t)dt
o (T%)? 7o \ T (T%)?

%—l—a——:a (2.39)



O0000Osin6(t) 00 000000000000 OO0OOOOOODOOO

sin 91 (t)

sin 0 (t)

gbooooogn

A; = —sin (g) , Ay := —sin (

2

00000sin6 () 010000

t
/ sin 0, (1) dt
0

t
/ sin 0y (t) dt
0

OoOoooboooooobocoooooooobooooon

sinf,(t)0 20000

T*
/ / sinfy(t)dtdt =

goobogo

(

7

N 2
coal AT B (D)

mga

1

(
sin (
sin (— —
\
p

A+ O(t2)

T+ /2 t
/ / sin 0y (t) dt dt + / / sin 0y (t) dt dt
*/2
T+ /2
/ Atdt + / (
0 T+ /2

s (§

48

(

—=+

2

(07

2

2a
(7%)?

Ay + Byt + O(t?)

t
Ay dt

0
T*/2 t
Ja
\JO T*

Aqt

B
| At + 2, o

3

T*
2

By
48

T*
2

T+ (2

9

)

T
0<t < —
= <2

*

O<t<T
- 2

*

*

T
— <t<T*
5 =

*

T
— <t<T*
5 =

4a 3o
—cos | —
T* 2

0<t<T*
- 2
T*

/2 2

0<t<T*

- 2

T*

— <t<T*

5 =

By
2

Ay
8

+

A
8

2

34
8

n 3A

8

(

)

By
Aot + Ft2 + C> dt

C
*\ 2 e ak
T") +2T
C
(T%)? +§T*>

(2.40)

(2.41)

(2.42)

(2.43)

(2.44)

(2.45)

(2.46)

(2.47)



00000001000000000000000000n(>0)00000000000
0a[n] = 65[0] + n(62[0]T* + w) (2.48)

D000000000000000000000000000000
02[n] = 0>[0] (2.49)

oboboobobooboboobobilibooboboobobooboboobobo
gbobobbooooobboboooobbobooooobbbuoooobbobboooonon
gbobobouoogon

92(0) =

- (2.50)

goobooooooboobod

goboboboboobobboboouodoooogbobooobboboodgg2000000obn
googobuodgbbodbbooboooboobobbooooboobbooon
gboboogooboood

242 000O0O0OOOO0OOO

O2100000000000000000DOO0OO0DOO0ODOOODOOOOOD 1
00000007 =08[s|0000000000O0D0OODOODOOOOOON.

0(22)0000000000000000O0O0O0O00OO0OO0O00O00O0OOOOOO1O
0000000000000 —«/200 /20000000000000000000
000000000000 (23)0000000000000ODOOOO0ODOOOODOOO
gbobobolggboooooobbuooobbuoobbooobooobooobboon
0000000000000 000000000DO0000O0O0O00000 (24)0 (2.5)
0000000000000 000O00D0000O0000oooooooooOO (26)0
000000000 (2700000000000 0O0z0000000000D0D0O00O
gboogboobuoooobbboobuoooobbogg

U 21:00000000000000000000004

m 2.5 kg
a 1 m
I 1 kgm?
a 7w/4 rad

10



0.5

0.4

0.2

0.1

— X

b —

FAE [rad]
=)

0.1F

02F

03F

-0.4

0.5 1 1 1
K5 [s]

2

2.5

022 DODC:OOODO0ODOOOOODOODOODOODbDObOOOOO

FIESE [radis]

e &

b —

R [s]

0
2k i
4tk i
1 1 1 1 1 1
0.5 1 1.5 2 2.5 3

3.5

O 23 DODC.OOD0OO0ODOOOOOODOOODOOObOOOO

11



1.5F .

05F .

XFFRIA A [rad's]

_0.5 1 1 1 1 1 1 1 1
-0.5 -0.4 -0.3 -0.2 -0.1 0 0.1 0.2 0.3 0.4 0.5

XHERAE [rad]

0 24: DODC:OO0O000DOODOOOOOOODOODObDObOOOOO

MY —REE [rad/s]

_6 1 1 1 1 1 1 1 1 1 1

-0.5 -0.4 -0.3 -0.2 -0.1 0 0.1 0.2 0.3 0.4 0.5
rY—RE [rad]

O 25 DoODC:.0OO0O0O0OOOOOODOOOOOOOOOOODOOOOD



BRI F7 [N/m]

PR 77 [N]

30 T T T T T T

NN TN N

TN N NN

_30 1 1 1 1
0 0.5 1 1.5 2 2.5 3 3.5

B [s]

26: DODC.OODOODOOOODOOODODODOODbDObObOObOODOD

35 T T T I 1

X7 Al
30 ZH A

15 .

10 .

10k i

.15 1 1 1 1
3 [s]

O 27 DoODC.OOOCOO0ODOOOOOODOOODOOODOOOO

13



2.5 CODC(Continuous-time Output Deadbeat Con-
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